A=1— K 17173505

5450 KEE

A

JAAF

NAGANO

\JP.H

RERPE Earhsdf AR= (RE1E)

=0 Bk 5

HA H 2017F9AH23H (%)
= IZ . EFEMAELIBAERMPE NS Gt 1— K 171020)
F # . EFEGRERAREGERE (—0)EFELFERDS
EFFEHNEEZES REIFEMIINHEEZESEEhES
H g . WEEFENES 5%% WATHEEZEESR
=+ =3 REFIEPERAE EERE_FFRFEFIED
PEMXPERAEESE BEEMXPERATIER
%IL:\ %% ;E;:F |__IIJ
g2 ¥ R /JWERE(MSYY) IREFEBEE) HE RESTE)
4R - BmEE - AL XE
B COARETHERIN SNz
HH | B& #wB |F-R SCER K& - F&E FhilE |1k "E
9/23 |BF2&| 100m FiE [11729(+1.2)] SH FEA(2) =E 11#36 | X&HT
9/23 |BF1&E| fahig | RB 11m26 i E5(1) & Im40 | AEH
9/23 |BF14E| 1500m | RS | 4924%092 | i 1%&(1) | TFGhH+t 4%25#’1‘ ANEHT
9/23 |BF2&#| 100m SREE [117224(-0.1)] SH FEA(2) =E 11#36 | XK=
9/23 [&F#@E] 100mH | RS [157205(+0.9)] & F1E(2) | JEZ=AII 15@30 ANEHT
RSO RT3 3>
Bzl | <Mz | Em | BR[| &8 | B Bzl | <Mz | Em | BR[| &8 | B
(m/s) (C) (%) (m/s) (C) (%)
8:30| = Ed 0.1 [ 20.5[ 70.0 13:00 B [ JE&E | 1.8 | 25.0 | 58.0
9:00| = R 0.8 [ 23.5] 63.0 14:00| P& [5] 1.2 | 26.0 | 56.0
10:00| = £ 0.7 | 22.5[ 68.0 15:00[ P& 3] 2.0 | 25.5[ 56.0
11:00| = R 0.8 [23.0 63.0 16:00 B | mrfa | 1.8 | 245 57.0
12:00 = ik 0.8 | 24.0[ 60.0
m KA DBEE D31 B U1 — )L RBRICHITBREDHA
FS ARIEZX&— (R162-7) O mI- Bt
Tl fhommEEp=ELURE (R163-2) (ESH - BB
T2 oL —>I(CA>T (R163-3a) X kB -
T3 HaDO X, RS> ExEZ2OAAIZEDZ (R163-3b) - JLX
T4  JTLAUSA>FRICL—>RBNKAICA ST (R163-5) rORAKE
TS BEREN NSO SEFCER UZ (R163-6)
T6 )\—RILZHEIREM>T= (R168-7)
T7  BXEMN\— RILEFIHE LT\ —DE S L DK MIESEE> /= (R168-7a)
T8 BRI/ \—R)LZEE LTz (R168-7b)
R1 DL—T7A40 « A—=)\=V=2WNT/I\r I ANZET UMD Z (R170-7)

ORIXEZxRYT

(1-2) :1FE-2FE (2-3) :2FE3FE (3-4): 3FE4=E




FOERHRDLEIE L FEHAKS (PHIE) 17173505 Y B E NGB ERMR
I ERRGYRFAEEE. REELEEES. EHETANLEEELERMES BEEYE AR IE
#iE . (BH RHEAERS. (—B) RBERELBRGS. MEAHHRAEZES BUEHE mE B
(BifER] TH29E9H238 (L) . RRER 5 xE
(FEAK] EHEhskAEER. RHFELEE8S. RHEHAT R —Ex
(6R: K£#) x ¥ (355038 ) BHAT RENE
T 21 3 At 5 61 71 81
9/23 &+ 1% -T.6 [1a4& B2=) 3.5 == a=E W) 39T F=x (1) 3.65 Eax Com(l) 3 T2 DY = TE K (1) 392HFH BE) 118 TR
100m e BEAL =& WA Rig =i R pid::
9/23 FIl F{E (1) 2:27. 18\ #AF #E3k (1) 2:27.45 % w1 2:34. 46| TEF MEFE (1) 2:35.30/ML EE(1) 2:36. 15|/MIE #A %k (1) 2:36.36 E& #ExE (1) 2:36.42 /INZE FEZE() 2:36. 88
800m THRS —HE it 1Tp| EX B =2 R
9/23 a8 HEN) 1.35 4L/ &5 () 125/ =88 (1) 1.20 m #5 (1) 1.20 0@ BE () 1.20 B[R 2= (1) 1150 ERF) 115 BR HED 1.15
EE B s &8 S kB3 BT Rlg W Pt
9/23 E E() 4.55(+1.0) ,Eé ED (1) 4.47(:0.8) 152 |(1) 4.36(+0.6) nu% AN (1) 4.34(0.1) /D EH (1) 4.33(+1.0) 54 RH(1) 4.21(:0.8) FFE 58 (14.03¢:0.1) 48 24 (1) 4.03(-0.5)
SENERE £ H/A =ik B EiE L] By E FIEE RE
9/23 2@ S@md)  9.95 7@ EﬂE‘.(l) 7.60 mg E10) 7.45 ré;m m a 7.4 EE‘Q BE) 7.35| 252 £H (1) 1312 BE®O) 7.06 K BED) 7.05
FaALIE (2. 721ke) CEE:) A BT ) BT Rlg =i Rig
9/23 | &F 28 0.0 A K2 12. 82 1%ME E§(2) 13.28 '@t E(2) 13.31|88 €1 13.36 st “"(2) 13. 43| £1& $1F (2 13. 98 £%£(2) 13.51 /L W& (2) 13.56
100m =98 BE i mE BT =458 87 F 3R EAM BB
9/23 hik B2 (2) 2:21. 21 7rfE #4€(2) 2:21.291/hO #ER(2) 2:21. 65 h4t #1E (2 2:23.67 1K #5(2) 2:29. 10| & #i5 (2 2:32.38 ﬂunas FHE(2) 2:33.00( LA #FtH(2) 2:33.88
800m Hif Fe ) 75 B 6 s s K LxME
9/23 ER HEEQ 1.45 =& BEQ) 1.40 5% i Q) i) 1.35 8% % (2 BRI 1.35 xzym %%FQ)  1.30B5% tH Q) 1.25
EE B HE BEA 55 () Ee AEH BFQ e HEH CHE
ARE BQ)
BRI
ﬁﬁ% =E ()
7K
9/23 LR INE2) 4.92(+0.6) AR FTE(2) 4.64(+1.3) /INHE T#E(2) 4.59(+0.8) [FE S HF (4.54(+0.6) AL 41(2) 4.47(+0.3) M8 %Hi& (2) 4.33(+0.2) 1L %# (D) 4.26(+0.9) £S5 M (2) 4.24(-0.3)
SENE R 5B - Rlg )75 B 6 13a *m% i3 ESE L fm
9/23 =B B2 () 10.75 H BE(2) 9.20 EEE B (2) 9.15 & ;&M (2) 9.00 Frlx 2= (2) 8.84s #’A ER(2) 8.76 &Efk = (2) 8.74 BTA X (2) 8. 65
FaALIE (2. 721ke) R FENGE PLIE R K5I - 4
9/23 \ &F¥HE +0.5 )-ﬂﬂ 5E B2 21.35 =% FE(2) 217.54 |J.|III BFEQ 21. 92 =R £k () 27.95 8RS F1# (2) 28.38 EPJ"? #HZE(2) 28.42 /M 3k EH (2) 28.62 JIIJ: *(2) 29.06
200m =R R s H i 8 By E -
9/23 HEE ZRM)  4:49.95 ik |®E()  4:50.42 )0 QDX Q) 4:51.37 %# DR 45275 B HHE Q) 4:53.67 BIE WK (D) 5:02.56 R HE(D)  5:02.61 $E,$ =10 5:05.37
1500m prd:t THREHII =t B FH 7 Eif R B iR ZET
9/23 0.9 B BT Q) 15.05 TR B#(2) 15.25T0 B2 Q) 15.97 Fs‘éllﬁ £3(2) 16.03 (% £E(2) 1716 #F £XQ) 17.57 76/ EBE Q) 17.89 #Kk BEQ) 17.97
100mH (0. 762m) ezl GR| 7k BH FiEaE & #3 18R L [N FHEH 7323
9/23 ,,\,W ¥H©Q) 250 A EEQ) 2.40[JIl £ =EEQ) 2.40 Jmu% B3 (2) 2.10 ##8 HE Q) 2.0/l &H @) 2.10[#%& &2 1.80 &R (2 1.80
HEE Bk B i) )75 B 6 R T RIELR BEE L
9/23 §= 51.98 7#*¥& 52. 43[de =l 52.96 g% 53.18 =4 53. 43 R ¥ 53.58 M Em 53. T8|{EKMtEIAA 54.17
4x100m HE FZE(2) SEE AFQ W— %2 L R=E0)) 2@ HE() D R (1) 5 BE (1) hIE =B (2)
hF BRE (1) Hh E(2) B %2 AU R (2) SFE BE () INE RZE Q) "B ERQ AL THE ()
EE A E (1) RE R () e #K(2) A E= (1) mis BE () =% FEQ FE E©Q) A+ S0
LE NEQ) HIE %A (2) BA %0 =S HE Q) g MFQ Bl KEQ N BB B BEE )




ZF1E
100m

EHE = (CR) 12.05 & =& 2R 2014/07/05
2508k GR) 12.62
¥R BREE 114 0% + 8 QIBRIEEBE o 24 LIEEBE
[ 148] JE;E +0.3 [ 248] JE;E +1.8
& b-v K 4 mEA mRHEE | JE LY K 4 mE# o8k EE
1 5 6713 FE BE0) 13.96 g 1 6 6693$ - E X)) 13.07 g
Y H50 =4 IEP I3 ke
2 3| 6589 ik WEBEWN) 14.08 2 47 7404 chF #E ) 14.03 g
1b9 #¥h HEX Thh #4 JEH
3 4] 6603 4K BEMLZE (1) 14.37 3 3| 7491 bl B (1) 14.29
4 #ih3 ey Y'Y 14 EXMBERA
4 6/ 7363 L =mF () 14. 61 4 8 T8 £ (D) 14.82
L7h3 Y393 I I EE BARL
5 7 7115 5%# 5(7) 15.06 5 9] 7020 EF =& 15.06
134 1% it H] 91/ HA3 /N
6 9/ 7004 miiE fE() 15.15 6 7 8191 /hEY) HE=& () 15. 67
I Nt &M ¥y 33 =H
7 8 8691 f&E LAEX) 15. 71 7 2| 6286 &M FATEWN) 15.73
Yavh'm 113 R YY) th AEHE
8 1 8193|HMAF (1) 15. 80 8 1 7835 /hgE E=HA) 16.15
T2/ 493 =H MR 39 FEHALE
2 7619 4:F =k (1) 5| 7263 BEA HMEXR (1)
Y ¥ [ & ED Riz 1% 14 REEF Riz
[ 34] BEE +0.9 [ 448] BEE -0.1
JE[ V- | No. E 4 B E & EE | [JE L~ No. E 4 A E iR EE
1 7| 7851/ RMEZR (1) 13.97 q 1 6/ 83841l & (1) 13.69 q
LA Rl Yvn B
2 3 6711 2@ BAE) 14.70 2 5 7967 &L (1) 14.36
974 9% =4 DA TR H RE
3 8| 7048 '=H & (1) 14.85 3 4/ 8820/ 1LA B3 (1) 14. 46
IR /A Y4 1p P!
4 1] 8280|=:& Hx() 14.89 4 7/ 7800 =ik FE2F (1) 14.87
~’v+} 7 tt By RER i Y sk BA
5 9 8359 BEX BRE (1) 15.18 5 3| 7633 =R BE) 14.92
hen 4 k/h TR I 9% 19t [ & AR
6 6/ 7529 1L H/EK ) 15.57 6 8 8052/ Kk (1) 15.37
Y 7OV 2 FE 'ty it FEbR
7 4] 6444/ EAH () 15.74 7 9 7104 B[ % (1) 15.85
N Y E B thng 4% ws
8 2| 6892 tfg #EZ(1) 16. 66 8 2| 7685 /IR #EE (1) 15.93
h3v 39 bt 1—#& T/ Th% TiREA
5 8173EHE &A%k &) 1| 6740| X#f ZZ (1)
NS 3th 5= P T1L3 744 = Ri5
[ 54] BER +0.1 [ 648] EE +0.6
JE[ - No. E 4 Fi=E3 B’ W= | JE V-] No E 4 =L KR EE
1 7 7280 Z& EE(1) 14.06 1 47 8385 =B = (1) 14.12
¥ ZER EV P =
2 6 8825 BHE FE (1) 14.35 2 8 6496 /O ER4 (1) 14.62
N5 1y it F R4 B RILE
3 5 7257 FiE &R (1) 14.78 3 7 8130 =l #ZE () 14.63
VAL REEF b3YY 3t FRIBEER
4 9| 8689 % H<H() 15. 36 4 5 8281 %=E E(1) 14.68
9he *9°3 R ™o ot B4 R
5 4 7940 EF HAY (1) 15. 46 5 20 6949 /it EEMX) 15.19
4 vy 7Y BREME ME M h K
6 8 6823 R Donix(1) 15. 67 6 9] 7002 & BB (1) 15.54
805 Y53 BE Ny 1/ €M
7 3 8410 &2 =M (1) 15.88 3 8012 #iE EML(1)
H347 Tk RES 147 ik Hif Ri5
8 2] 67414tfE B 15.98 6/ 8608 thiL ZHI(1)
49 a9 bt =% Th¥v 74Y foLodine Riz
[ 7481 BEE +0. 1 [ 841 B#E 0.0
JE[ V- | No. E 4& A E & EE | [JE L~ No. E 4 A E iR EE
1 UG REIO) 14.00 q 1 5 T3 EFHF tiE () 13.76 q
/L3 19h FEHR 7 E 113 mEATE
2 4 7968 B EE (1) 14.27 2 7 8358 e BE(I) 14.30
3V Y 3 RE 3% Y W7 TR
3 6 758174 MERE (D) 14.27 3 47 7596 # &wE®) 14. 81
% 117 [l & Fa EB MY U EESE|4:i
4 9/ 6692 ATHE FHIE(1) 14.57 4 3| 6602 k&K FINE () 14.90
I8 EA RBE HE Fih3 e
5 5/ 7942 =% HyUs() 14.89 5 6/ 7854 KM #fIE (1) 15.18
vl AR 5 v 1y Rig
6 8 7528 =% TN 15.70 6 9/ 8544 s # (1) 15.67
AN vy 1)) FE A YUY DIF 2
2| 7620 pE #EE (1) 7 2/ 8315 A AE () 15.70
95 79h [ & maEp Ri5 ath 4t =31
3 8129/ @8 &m (1) 8 8 TII8EEH =R 15.78
yaby 19t FEABERED Ri5 hvl 749 Bzl




[ 948] BEE -0.2 [ 1048] &E&E 0.0

JE] -2 No. K 4 mEA B’ W= | JE V-] No. K 4 mEA o8k EE

1 4] 8542 =T FiMA(1) 14.20 1 6 7487 B4 BEHEXE() 14.04
Nz k| &r 8th 17t EXMERA

2 5 8593 KT #i(1) 14.38 2 7 8172/ th#f BRE (1) 14.33
/95 7Y &y B thh5 Ik BE

3 7 7881 FA BEA () 14.43 3 4] 6566 =@ < BH& (1) 14. 71
ISEVE: FEERE NN BHER

4 9 7764 thft ZEE (1) 14.50 4 5 6445 #xE ZE(1) 14.92
thh3 vt Bl W 47 % B

5 6 7833 /hE EZE () 15.07 5 8 7934 @)l Y () 15.03
1545 nat FEHALE avh7 1Y =tR

6 2 7584 =N HAHR (1) 15.48 6 3 7050 =@ # (1) 15.68
¥ 3t & & 75 EB 795 Az’ ¥ JEET

7 8 7207|£mHE FXK(0) 15.82 7 2 6651 AR EZ(1) 15.88
h48 g =13 N7 34 234

3 7597 /i =) 8 9 7687 &M (1) 16. 44

vy it R i Riz 175 hR" 4 TEmER

[ 1148] &E&E +2.4

JE| b= | No. K 4 EA R hE

1 4 7129 = J/EW) 13.40 q
M7 T BARK

2 1 7199/ 5T £ (1) 14.27
1794 1t sk BA

3 20 8745/HL #&F (1) 14.69
AT TYh ZER

3 3 TN EA () 14.69
LTSN BatiiH]

5 8 6948 1#iE E£F (1) 14.77
J2° Ny 13 Ak

6 6/ 6650l =E& (1) 15.18
WY UE 2841

7 9 6353|%ith () 15.22
¥ 7v/ K&

5 7144 =@ FiFEW)
A5 Uk Bl Ri5
AE -1.6

JE| b= | No. K 4 EA R hE

1 7 6693/ #aA HEZE(1) 13.25
IYEP I3 Ee

2 6 7129 =2 \EQ) 13.49
M7 TE BARK

3 5 8384 1L FXE () 13.65
Iy0 vt =%

4 4 TIA3 B £iE (D) 13.72
7V E) $13 Bl

5 9 7851 /i KMEZ=(1) 13.89
vyt g

6 8 6713 5FE BEE() 13.92
Y =4

7 3 8054 Tt BE () 14.18
/L3 19h &

8 2 7404 AT #AE () 14.39
Thhs %4 JEH




KXF2F
100m

KRB EhzE0$k (CR) 12.05 & =E& £r 2014/07/05
£E08% (GR) 12. 43
FiE EBEKE B 0% + 8 OCIBLIBERE o: %1 LIEEBRE

[ 18] BIE +1.2 [ 2481 BZE +1.5

[ b-Y] No. K mRA i fmE IE L-v No. K 4 mRA B RE

1 4 8226 EHT ;E(2) 13.19 ¢ 1 6 7017 EH #& Q) 12.87 ¢
41 )Y i I 4 4 E8

2 2| 6562 #FHHE K (2) 13.99 2 5 7645 FHE #HF Q) 13.82
Zyh 3HF HEER 1937 EEh ERAE§:i

3 6/ 8068 /NE BEE (2) 14.17 3 1 1948 T 8% Q) 13.83
WYY FAE ¥ Vh 47 EEHE

4 1] 7815 /NE BTy (2) 14.24 47 3 8004 dtE #ZE= (2 15. 21
19745 3/ FEILER ¥ng V2t iy

5 3| 6880 K7 EH(2) 14.86 5 9] 7298 Efg ETIE(2) 15.32
=y v KETE— Hh3Y" 39 T4h ZEN

6 77205 HE FHEFREQ) 14.90 6 8 6385 & &2 15. 45
AV B hhny 73/ BR

7 5 T28 &K TRF(2) 14.95 7 4] 7793 HwNI % (2) 15.55
515 112 HED M T4 K

8 9 7019 /hE BED(2) 15.67 8 2| 7616 f855 Ex (2) 15.77
15 %) ELE] NA X W ERAE

9 8 7076 #AK HIE(2) 16.83
4 1Y NBHET

[ 3#A] JEE +0.5 [ 448 JEE +0. 1

[ b-Y] No. K 4 mRA i fmE & L-Y No. K 4 mRA B RE

1 4| 8066 HE 71 (2) 13.50 ¢ 1 6 8578 L E=(2) 13.61 g
TV 1%/ FHER oYY Y 1% EREER

2| 5] 7947 8R:E BE () 13.92 2 7 8223 5EE AEQ 13.93
1147 1) EEHE LRV #iE

3 6/ 6641 FL tiE(2) 14.06 3 5 6643/3k0O #E(2) 14.44
THIT 13 2581 #h9°F thY 2581

4 2 8274 KT #/EQ) 14.80 41 4] 7256 ZE E(2) 14.89
¥/94 33b Ear IRE NG nf RER

5 7 7160 RARE HEH(2) 14.83 5 8 8548 AK BIE(D) 15.34
s 14t 11py) Y 19h gr

6 8 6707 B B1X5(2) 15.33 6 2 68533 EA () 15. 44
YA Fib =i E[RLVAE ING

7 3| 6492 FI IR (2) 15.62 7 9] 7757 H #% () 15. 68
Thntd et EBRILEE % 14% REATE

8 9/ 7186 %Il Ex0#A (2) 16.29 8 3 7774 #R BKQ 15. 86
17 IFh =i W9 M Bl

[ 54A] BE -0.8 [ 6481 BZE -0.3

[ b-Y] No. K 4 mRA & fmE IE L-v No. K 4 mRA B RE

1 47 7074 hF FExE(2) 13.67 ¢ 1 5/ 7482 At HE(2) 13.41 ¢
Thh3 hot JBHT hIns J7 EXMERAR

2 6/ 8447 EHE FIVEQ) 13.82 2 7 6578 X0 FNE(2) 13.86
VINUIRY) RSk ' F h/h HEX

3 5/ 6691 LIl % (2) 13.99 3 3 8003 F#0O TEHE (2) 14.37
Wy a4t REe 17 F 97 Hig

4 2| 6788 EH #K(2) 14.62 4 4] 7613 &XHE =RF(Q) 14.58
4th 743 =il Ty 43 ERAE

5 7 7953 i&ERE EF Q) 14.96 5 6/ 8705 BEFf I (2) 15.19
Y9 74Y =% Yhy [1ipul

6 8 7876 HIR ZF (2 15. 11 6 9/ 7680 =M & (2 15.37
YH 47 749 FEHERE EVZ ML) TilEh

7 3 6843 AL Hk(2) 15.57 7 2| 8500 RAD EXQ 15. 69
WY Yy ha W 3t foodan

8 9 8273 &IE FDA(2) 16.43 8 8 6382kO FFQ? 16.10
¥ng wh LElRicE Y IAYF A BR

[ 7481 BZE -1.0 [ 8#f] BiE -0.4

[ b-Y] No. K 4 mRA i fmE IE L-Y No. K 4 mRA B RE

1 4] 6486 fERK EF () 13.73 1 6 7954 FM K& () 13.41 ¢
¥ $393 EBRILEE YhY 18 =%

2 6 8145 =F FAREQ 13.79 2 7 6705 g #1F () 13.61 g
9 +13 FAEE R VIVEVE] =

3 7 6284 B[R =% (2) 14.25 3 47 8591 KT BAERE(2) 14.58
g w4 AE /94 T4 ko E

47 5 T84 5 EE2FQ 14.79 47 8 8763 FEE ELHEQD 14.70
TH' 7 9% 7323 £3%7 13t ERAE i

5 9/ 6884 £AH #&(2) 15.32 5 5 6598 #iR & <H(2) 15.20
Yy T7ht KETE— VIS IVIEYI Y

6 8 7192 iy B (2) 15.59 6 9 7682 HF REF(2) 15.49
Th%4 EX7Y =i thh3 193 TiREA

7 2| 7933 E AR FFQ 15.89 7 20 7756 /it B (2) 15. 56
Y F U3 =2tR M 313 REATE

8| 3| 7357 FW B (2) 15.94 8 3 7504 FE BEQ 16.34
TAnt 94 #1 747 VI R & 3t &R




Al

AE 0.0

I§ V-] No. K % mE4 E - g

1 7 7017 ZEHA #HK(Q2) 12.82
7% 5 a4 L]

2 4] 7954 15M KEF(2) 13.28
YAY 18 RE

3 5 8226 HA E(2) 13.31
bth Yy Pt

4 9 8066 HE T3 (2) 13.36
W 1%/ FEM

5 3 7074 F 3 (2) 13.43
Thh3 hot 1B &Y

6 2| 6705 EfE #F (2 13.49
S VIVEVE =3

7 8 8578 AE == (2) 13.51
Yy Y i1k BRER

8 6 7482k ThE(2) 13.56
1783 /7 EXHERAE




X FHRE
200m

KRB EhzE0$k (CR) 24.88 JbiE 3 =4 2016/10/16
=50 % (GR) 26.02
TR BBEE 64 0% + 8 O:IEHIEEBE o: &4 LIEEBE
[ mﬂ] Jﬁl:z +1.5 [ Zﬁ] BAE +0.2
& V- K & mRA Bk HE IIE -y] No. K & mRA Bk HE
1 6 7955 =% FEO 27.79 q 6 8229 8RB Fif(2) 28.17 ¢
I8 FHY =% 1493 U4 Pt
2 5/ 6930 JIlE %E(2) 28.60 ¢ 2 51 7796 Emk EE (2) 29.19
R —®#& 13 7k BA
3 1 6590 AR F1+(2) 29.98 3 4 7755 [RH 7574 (2) 29.74
Y747 Y3 HEE N3y 1t Bl
4 4 6789 BBH FE Q) 30. 31 4 9 7837 )IlA #£(1) 30. 26
7Y 4 31% Je= hF 14 FEILER
5 3 6573 EA (2 30.74 5 8 6594 #AHk HiL (2 30.78
Y% 120 HEX s 7UY A=)
6 7 8760 =% &H2) 30.94 6 3| 8161 A BH() 31.46
$I9° 4 $39 EEAE§:i 41h 39 5=
1 8 7362 BH FRENM) 32. 21 1 1 8127 & F#F (1) 33. 44
191 113 #1 WL U1 FAREE
8 9| 7838 JIlkg FF&KZFL(1) 33.01 8 2 8279 B35 mxE) 33.50
9% 74Y FEILER NN B4 AR E
2 8741 AF FHR(M) 7 8545/ @FFHF FEEM)
VL3 1 :9-PP! Ri5 Y94 1% g Ri5
[ 3] JEaE +0.6 [ 4481 JEaE 0.2
& - No. K & mRA & fmE IE L-v No. K £ mRA Bk HE
1 47 7396 3%5 ;u;e 2 28.04 ¢ 1 5 74271L0O HFHE(Q) 27.93 q
K H YOI F IRt 7323
2 6/ 7849 /1\75* 75%“(2) 29. 41 2 6 8821/8&W 1t (1) 29.10
wyy Y Fig Fut 4 nt Pk
3 7 7489 A+@A HEN) 30.24 3 3 7187 =& #Hh(2) 29.36
14" 39 71k EXKMERA #3Y° Y) =
4 9 7124 mF0 #EAE (1) 30. 69 4 4 8086 FEIR rt(2) 31.25
49 79h BARK Thy# bt i
5 2| 8088/dtIR Himnzx (2) 30.92 5 1 7869 B WmE#&w (1) 31.80
¥ 130t i 7VU H1% Fig
6 3 8709 LA RiFE(2) 31.97 6 9 7775 KR#F FHF(2) 32. 68
YIEh H1 3 ¥47 V)3 Bl
1 5 6716 £ff EF(1) 31.97 1 8| 759500 AT E() 32.78
Hh3Y 39 A3la = hrF 334 R & 3t &R
8 8 6481 2 BE (2 32.17 8 2/ 7156 #0O #mME (2 33.03
h747 13 EBRILEE 19°F 1nY [1ipul
9 1 7281 &k &= () 34.38 7 8063 ;&0 FikE (2)
#b Ut ZEN 0 F HEH Ri5
[ 5481 | +2.2 [ 6881 JEaE +2.0
& - No. K & mRA i fmE & L-Y No. K & mRA Bk HE
1 5 6640 5 RFE (2 21.72 q 1 6 8171 #F HFZE(2) 28.06 q
Y 31y 2581 thng J7 5=
2 7 6572 H#Jﬁ =2(2) 29.22 2 7 8612/ # EA (2) 28.21 ¢
795 1t HEER Yy U+ #rE
3 4] 6786 LL— =& (2) 29.28 3 2 7369 #B BFEHEA) 30. 65
Y{F % ez VIBSEEY)) #1
4 6| 7484 hig =ik (2) 29.96 4 8 6715 ®ubL #=(1) 31.17
Y3 % EXKMERA T =4
5 9 8316/:hLt &) 30. 22 5 5 7758 1ris & (2) 31.81
178" 3 Uh a1l 4rvy 19 MEATE
6 2| 6822|[F BHRE(2) 30. 42 6 4] 6488 HH HHH(2) 31.84
Ny Tt BHE 194 313 RILME
1 8/ 8067 #Eﬂ Frk(2) 31.32 1 9 8128 He & (1) 34.25
74 FEH 50 7Y% FARRER
8 3 6667 Wﬁ': [23-1¢)) 31.72 3 8277 ikt #&H& (1)
Y UR Y A1) 28E 13 171 B R Ri5
9 11 7776 &8 =8 (2) 33.29
vh i Bl




&E +0.5

& - No. K 4 mER Bk HE

1 7 6640 FiR REFE (2) 27.35
eI L 2% i

2 6 7955 =% FE 2 27.54
18§ =%

3 4] 7427 00O BFE(Q) 27.92
W E Rt 7327

4 5 7396 =R EB(2) 27.95
15 4 JEH

5 9 8229 8RB Fif(2) 28.38
14Y° 3 )4 Dk

6 8 8171 i’ FZE(2) 28. 42
thng 17 5=

7 3 8612 /M ¥k EH (2) 28. 62
Yy Py #rE

8 2/ 6930 JIlE %2 29.06
hIh3 —#&




XF1EFE
800m

REER 5 (CR) 2:13.56 A HAHE e g 2014/07/19
=& 8% (GR) 2:20.16
[ 148] ) [ 2481 .
& - No. K 4 mER i fmE & L-v No. K 4 mER Bk HE
1 7/ 7683 EAE Rk1E (1) 2:27.18 1 15] 7962 /NE FEZE (1) 2:36.88
DAY THh THEh 0 347 RE
21 10 6894 #x7TF #E3k (1) 2:27.45 2 7 7106/ kF FrE (1) 2:36.89
WYy F5 —8& 4 F [N =]
3 51 8826 #FE S (1) 2:34.46 3 11 6694 #5140 FO4E () 2:41.36
)% 74 i MY /M b
41 11 7162 F% METE (1) 2:35.30 4 9 6792 kAR HE 1) 2:42.78
¥/ 14% ia 0 1/ Bl NI
5 14] 6334 /ML EZE() 2:36.15 5 5 7049\ FH Z2A() 2:43.83
WY 1% EiE 17% 1an /A
6 6 8687//MIE #EZE (1) 2:36. 36 6 11 6581 /h#k [XBF (1) 2:44.30
1YY 15 = an vy BER
1 13| 8166 EL mxE (1) 2:36.42 1 8 7765 FL #£ (1) 2:45.76
YN EIf 5= Y7 14 Bl
8 2 8053 EA mF() 2:37.05 8 2 8317 =l #HEM) 2:46.15
4h% 13 HEH REZY il
9 12| 7284 /=P BEXKE () 2:39.58 9 6 7001 L E (1) 2:47.117
Thntk 34h ZER +hy' v 13t {EBH
10 4] 7131 E# & (1) 2:40.02 10 3 6795 &0 EBWEN) 2:47.54
h3h7 Ut BARK 19 F 7Hh L=l
1 3 8412 |E EE() 2:41.28 1 14] 7836 7% FEHF (1) 2:52.62
NZ19 THF A 40 1Y FEHIE
12| 15| 6607 &Il #&8g (1) 2:41.85 12 10| 7801 &K &) 2:55.22
IVh9 1¥ HEE YiZ Trh sk BA
13 1 8175 3[xA k(1) 2:46.00 13 4 8688 &g ®BIH (1) 2:57.15
$hEF 5= a4y 1) R
14 8 7583 e EBE(N) 2:48. 21 141 13| 8600 ¥+ =& (1) 2:58.56
Thy' ¥ 19h [E & 7 & AT 31 #rE
15 9] 7635/&FA8 Fi#E (1) 3:14.82 12| 6285 #FH i (1)
hah Ut FEAES: )5 73 AEHE Ri5
[ 3481 _
& - No. K 4 mER Bk HE
1 5 7492 K&t K&E() 2:50. 39
47 MR EXMERAR
2 6 6494 &t L BA(1) 2:52.62
L3h3 THY BRILE
3 8 8597 BT (1) 2:53.80
NZIBVH #rE
41 12 7003 &Il E() 2:56.37
M9 b4 E8
5 13| 7486 A FHEE () 2:56.78
ath F EXMERAR
6 10 7078 &% MWMEZ=() 3:00.70
v NBHET
1 14] 6565 B:Z B4 (1) 3:00.93
Y749 13t BER
8 2 8013 /p#y #LEE(N) 3:01.28
Y 7Yh EHim
9 77772 M B3 3:10. 62
h3y /% Bl
10| 11 7855 K% Ep/veE () 3:12.10
9 /% Fig
1] 6745|[RHE ZETE (1)
NFE 3h =% Ri5
3 7618 TE FRFM
YEY' Y 43 FEA R Ri5
4 8014 AR TH#N (1)
W3 A3V =] Ri5
9 7617/hO ZFEXEM)
s & mEs Ri5




24 LL—R

Igfz No. E & HRERTR il £ £k W5 | % RS
1] 7683 FAMA W1t (1) T#REAR 2:27.18 1 1
2| 6894/ #EXE(1) CHEe 2:27.45 1 2
3 8826 FHf S (1) Pt 2:34.46 1 3
4] 7162 F% METE (1) ITpv] 2:35.30 1 4
5| 6334/l FE(1) EE 2:36.15 1 5
6 8687 /ME K (1) IR 2:36. 36 1 6
7 8166/ &E% #Ax (1) = 2:36.42 1 7
8 7962 /hiE KZE(1) =¥ 2:36.88 2 1
9] T106[5kxF# FE5(1) 05 2:36.89 2| 2

10| 8053 @A BF (1) FEMm 2:37.05 1 8
11] 7284 73 EXRE ) ZEH 2:39.58 1 9
120 7131 E#f B (1) R 2:40.02 1110
13 8412/ P& FE) BRESEE 2:41.28 111
14 6694 #81L F04E (1) iE% 2:41.36 2| 3
15| 6607 &)1 #&8 (1) Be 2:41.85 1112
16] 6792 kAR %% (1) :ﬂ:zt*‘lll 2:42.78 2| 4
17/ 7049 554 = C 5 (1) /A 2:43.83 2. 5
18] 6581 /hik [F5HF (1) BeR 2:44.30 2| 6
191 7765 &l #& (1) A 2:45.76 2 17
20 8IT53RAK #H (1) = 2:46.00 1113
21 8317 =% #FE () il 2:46.15 2| 8
22| 7001 #g (& (1) 1588 2:47.17 2.9
23| 6795:z0 #F|E() &)l 2:47.54 2 110
24 1583 s BE() iE] 4 75 &8 2:48.21 1] 14
25 7492 K# RE() EXAMERE 2:50.39 31
26 6494 & E BH(1) B RILE 2:52. 62 3 2
26 7836 FFiE FFi (1) FEHILE 2:52. 62 2 |11
28 8597 =T EH() #&kou 2:53.80 3.1 3
29| 780115k #E() KEA 2:55.22 2 |12
30/ 7003 BJiIl EE(1) L 2:56. 37 3 4
31| 7486 A FH5(1) EXMERE 2:56.78 3. 5
32| 8688 Eim &1 (1) [ 2:57.15 2 |13
33| 8600 #x# E4h (1) #oa 2:58.56 2 | 14
34| 7078 1&F BER(1) L) 3:00.70 3 6
35| 65656 BiE H4MA) BeR 3:00. 93 3 7
36 8013 /iy #LEE(1) Him 3:01.28 3 8
37) 7772 ma ‘I WA 3:10. 62 319
38 7855 K#M Fr/miE(D) RIg 3:12.10 3 110
39 7635 &FHB Fi# (1) iE] 2 SR AR 3:14.82 1115




KXF2F
800m

REER 5 (CR) 2:13.56 FE AHE e g 2014/07/19
£ECER (GR) 2:18.91
[ mﬂ] ) [ 2#5] .
IE[ b-Y | No. K & mER i fmE & L-v No. K 4 mER Bk HWE
1 9 8002 H# #E (2 2:21. 21 1 3 7150 i FHE (2) 2:33.00
N vy ¥ 1) Hig LVIEY) ia
2 6 6689 FriE #4(2) 2:21.29 2 6 7483 =1 BE (2 2:38.52
shth 43 b a0y 1% EXKMERA
3 7 7648 /hO #ER(2) 2:21.65 3 110 7189 /N #37 (2) 2:39.72
7WF ERAE i 47 23N =i
4 8 7420 &hFF #EAE(2) 2:23.67 4 9 7845/4tlR #£%0(2) 2:40.10
Thh7 7¥h 7327 9105 19t Fig
5 10/ 7426 iEX #5(2) 2:29.10 5 4 8147 Bl =R (2) 2:41.75
YhEh %I 232 bIPY Ht FARRER
6 4 6946 =K Fif5(2) 2:32.38 6 5/ 7932 B #AHk(2) 2:42.75
ITEb A3V K ath N3 EXR
1 2| 6665 LA ¥iH(2) 2:33.88 1 2 8149 b1l BFIHE (2) 2:43.26
39 Tvt £fm thvy 1y7 FARRER
8 5 8650 1&’1* ESI0) 2:34.04 8 8| 8651 7}<¥i" M (2) 2:44.22
4 39 ) I3/ @
9 3 8064 B4kt AV (2) :35. 11 9 10/ 8001 [H Iﬁﬁﬁ 2) 2:45.80
/b7 thY FHEH th 3% iy
10 11 8069/ 8 {&(2) :36.04 10 7 8549/ ® XF Q) 2:47.92
TR 917 HEH NG Th# g
1 1 8383 EA X% (2) :36. 24 1 131 7359 &t LVAREF(2) 2:48.71
39F Ik =t 71 47 % #1
121 13| 8231 #®&¥FE £TE (2 :39.49 121 12] 77114 K+ 25&2) 2:51.46
199" hi1 Pt 47 EAT LiRE
13 12 8547 FiR ¥ (2) :41. 60 13 1 7188 HEE =& (2) 2:53. 36
hF ) 7Y £ W 3 =i
[ 3%A] .
& - No. K 4 mER iRk BE
1 4 7950 /NE BHRE (2) 144,10
0 728 =%
2] 11 7356 #5K E£L2EF Q) :45. 56
AR % Tth #1
3 7| 8275/ Fk #ATE (2) :45.57
Ny 13T B4 R
41 13 6588 =@ & (2) 146. 45
397 7/ BER
5 10| 6354 &7 %ﬁ (2) :46. 55
ARV RE
6 9 7042 A %ﬁ (2) 147.52
41h /A
1 6/ 7297 IJ\’r’I UJ: Y (2) :48. 39
T taU ZER
8 5 6560 E# m Z(2) :50. 21
BER
9 8 7931 /J\M ?E/z:'c(Z) :51.16
N vy fih3 B2tR
10 1 7867 £ #(2) :52.18
ho§ 1 Fig
1 3 8375 FH EH Q) :57.76
Thnt 11 =
12 2 7249 fFEE RE () :59.23
N U RERH
13 12| 6945 ;BK TEE (2) 3:05. 96
YIR htY K




24 LL—R

IEfz No. E 4 HRERTR 7l £ L W5 | % RS
1] 8002 %k #5E (2) Hi 2:21.21 1 1
2, 6689 7riE #4(2) & 2:21.29 1 2
3| 7648/hO0 #ER (2) e 4 SR A 2:21.65 1 3
4] 7420 5t #ETE (2 $RER 2:23.61 1 4
5 7426 X #H(2) $15E 2:29.10 1 5
6 6946 =R #{H(2) AKX 2:32.38 1 6
70 7150 ik FHE (2) [ITpv)] 2:33.00 2 |1
8| 6665/ ILMA Fit(2) SHRE 2:33.88 1 7
9] 8650 {E<K EH(2) & 2:34.04 1 8
10| 8064 Tt UAY (2) FEM 2:35. 11 1 9
11 8069 &5 18(2) FH 2:36.04 1710
12) 83832 %% (2) =5 2:36.24 111
13] 7483 /=18 BZ (D) EXMERE 2:38.52 2| 2
14 8231 %fsid =% (2) s 2:39. 49 1112
15] 7189 /i % (2) =i 2:39.72 2 3
16| 7845 JLlR #5%0(2) RIg 2:40.10 2| 4
17| 8547 FriR ¥ (2) 2R 2:41.60 1113
18| 8147 =E1l =X (2) FARERED 2:41.75 2. 5
19 7932 @ B4k (2 =ELR 2:42.75 2 6

20 8149 sl BFIE (2) AR A 2:43.26 2 | 7
21 7950/hZE BARE (2) RE 2:44.10 3| 1
22 8651 /K% &AL (2) B 2:44.22 2| 8
23| 7356 #5K RAE(2) (=200 2:45.56 3 2
24| 8275 /Mt HHTE (2) B9 1RE 2:45.57 3 3
25| 8001 [ I (2) Him 2:45.80 21 9
26| 6588 =@ ZE (2) Be® 2:46.45 3 4
27 6354 E% XA (2) K& 2:46.55 3 5
28 7042 A X3 (2) #/A 2:47.52 3 6
29 8549 [ KF(2) 2 2:47.92 2 110
30 7297 /M O K Y (2) ZEH 2:48.39 3 7
31 7359 il LN\AE(2) B 2:48.71 2 | 1
32| 6560 AH F(2) BaR 2:50. 21 3. 8
33 7931 /A FERK (2) ELIR 2:51.16 3.9
34| T4 K# 125 (2) EREA 2:51.46 2 112
35| 7867 BE #(2) Rig 2:52.18 3 110
36| 7188 HEE £F (2) =i 2:53. 36 2 13
37| 83757/ HEE(2) =5 2:57.76 31
38| 7249 fIF5E GRAE (2) REF 2:59.23 3 12
39 6945 FK TEE (2) HK 3:05. 96 3 13




X FHRE
1500m

REER 5 (CR) 4:28.36 fE AHE e g 2013/08/22
£ECER (GR) 4:38.63

[ 148] ) [ 2481 .

I No. KE 4 mER REfmE IR No. K 4 mER Bk HWE

1 15] 7400 #ff@ =#] (1) 4:49. 95 1 11] 8278 &R #1E (1) 5:02. 61
LA3th 39 JEH 44" 0 1R B4 AR E

2 14 83571k 1&7E (1) 4:50. 42 21 17 8167 =fB H¥ () 5:16.50
#h9 19h THEARRIII )Y 7Y 5=

3 120 7930 JIlI@ DL (2) 4:51.37 3 14] 8005 F#y =4l (2) 5:24.21
W F /0 EXR £y 743 EHim

41 11 8413 &F#H LEW) 4:52.75 41 13) 7480 &=L BEF (2) 5:29.08
Y4 33N B H = AT 193 EXKMERA

5 16| 8000 daf #Ehfa‘(Z) 4:53.67 5 5 8276 It FmBE2 (2) 5:30.27
Thh7 12" % Him arh7 FH% ElRiE Y

6 10 7927 I!'I“‘B BEX%EQ2 5:02. 56 6 18 7958 & EEE (2) 5:31.04
TAT 343 EXR E V1) =%

1 17) 7295 #R:E M (2) 5:05.37 1 15 6493/ EH —Z5A(1) 5:31.53
I H ZEF #+4° 1an ERILE

8 8 8624 AT RREE (D) 5:06.72 8 4 6950 #f#s BHZE (1) 5:36.52
Y MEh 1By B INEVE ) EK

9 9 8168 % [ZDH (2) 5:10. 54 9 8 7951 EE HHEQ) 5:36. 61
) /% 5= EBYY f/8 RE

10 1 8382 A HE (2) 5:13. 71 10| 12] 7266 lLE 555 (1) 5:39.43
ZYhj 71h =% w953 REFH

1 18| 7615 1k HX(2) 5:14.92 1 7 6841 dtF E¥ (2) 5:40.77
LIV F Rk 9437 7% ha

12 23] 8374 =T E%x(2) 5:15.08 12 3] 7882 R &5 (1) 5:41.20
Nz Zbi = yIng #35 FEHERE

13] 21| 7678 & 4254 (2 5:16.55 131 22/ 8690|%:th x& (1) 5:41.92
TVE RV T TR ¥9F b R

14 5 8232 Kk 2252 5:17. 11 141 21| 8065t E &EiE(2) 5:45.217
1193 13m0 Pt 153 HEH

15 22] 7208 F#1L Fix (1) 5:17.70 15 16/ 8100 XBr #EZ=(2) 5:45. 71
WAY Ut B Y/ ht FEIBRER

16 3 6881 Elm ?f(Z) 5:20. 46 16 9 6642 EE EHE(2) 5:46.87
hyng Az KETE— W % IFh 2% i

17 13] 6666 LM MR (1) 5:23.35 17 19/ 6850 78;Z% Enil (1) 5:53.63
4 1%t Z2%m VIV NS

18 6 7891/t ZETE (2) 5:24.49 18] 20| 6793 BiE EML (1) 5:55. 32
4T U4h R Y749 Tk de& il

19 2 T732/dtlR R ) 5:24.58 19 23] 7283 1A %?*(1) 6:01.97
05 41 Bl 4F 319 ZER

200 19 7421 =3 ®EF (2) 5:28.98 20 24 8148|dtiE Utﬁ- (2) 6:08. 21
¥ 7mn $kEE 40 t1h FARRER

21 24| 8356 {kfk #&TE (1) 5:30.79 21 1 6887 &k 55 (1) 6:08.79
LIVINAY) TERBRII 1M 33 KETE—

22 4 8592 £F Bm (2 5:33.58 2 6288 #aFt Sk (1)
h3a nvt Ry R L3 794 E Ri5

23 7 6591/ %0 ®AM(2) 5:35.97 6 8541/ ILUAx #£&g (1)
0 F Eh HEE YEb 24 g Ri5

241 25 7423 BE E(Q) 5:49. 80 10) 6601 KIE (1)
B4 7327 1Hov 713 A=) Ri5

200 6821 T EH£(2)

YR D 3 BE Ri5




ZFHE

1500m

AL LL—R
IERZ] No. K 4 BB E AR mESR o L E #H NEfsz
1 7400 #fFE ZEI (1) JRE 4:49.95 1 1
2 8357 1kmk &L () TR 4:50. 42 1 2
3 793011 ODIE(2) =t H 4:51.37 1 3
4] 8413 FHFH DEW) ﬁﬁﬂara.l!é 4:52.75 1 4
5/ 8000 fh#f #E (2) Him 4:53.67 1 5
6 7927 [ER EEZE(2) =t H 5:02. 56 1 6
7] 8278 &R #ME() EXES 5:02. 61 2 1
8| 7295 #EE H(2) ZER 5:05. 37 1 1
9] 8624 2T RRE (D) JB &7 5:06.72 1 8
101 8168 #F IZDH (2) - 5:10.54 1 9
11| 8382 At HFE(2) St 5:13. 71 110
121 7615 1k &% (2) E AN 5:14.92 1 1
13) 83714 8T EEFE(2) =% 5:15.08 1 12
14 8167 =fFB A (1) &= 5:16.50 2 2
15| 7678 & 304 (2) i 5:16.55 1 13
16 8232 KXg& Z 252 P 5:17. 11 1 14
17 7208 1L Fisk (1) B% 5:17.70 1 15
18 6881 FER 33 (2) KETSE— 5:20.46 1 16
19 6666 LA MEH (1) ExEm 5:23.35 1 17
20 8005 Ey =l (2) Him 5:24.21 2 3
21 7891 /hvith &E1E (2) IR 5:24.49 1118
22| 7732w &) E 5:24.58 1 19
23| 7421 =4 #F (2) SRR 5:28.98 1] 20
24 7480 =ER BETF (2) EXMEREX 5:29.08 2 4
25 8276 ¥ FEEC (2) EXES 5:30. 27 2 5
26 8356 1Emk #&fE (1) TR 5:30.79 1] 21
27 7958 & ¥%E (2) = 5:31.04 2 6
280 6493 EAH ——A() BRILE 5:31.53 2 7
29 8592 £F B (2) ko E 5:33.58 1 22
300 6591 /&0 #M(2) BEam 5:35.97 1] 23
31 6950 ##y BHZE (1) &K 5:36.52 2 8
32 1951 S HE(Q) = 5:36. 61 2 9
330 7266 LA S5 55(1) REFF 5:39.43 2 110
34 6841 1t EF (2) ING 5:40.77 2 11
35| 7882ER =5 (1) EFHEI 5:41.20 2 12
36 8690 F;th & (1) 5 5:41.92 2 13
37 8065t #FiE(2) A E 5:45.217 2 | 14
38| 8100 &% #Z(2) FIREER 5:45. 71 2 15
39| 6642 gL EE(2) 281 5:46. 87 2 |16
40 7423/ 8% E(Q) F7323 5:49. 80 1] 24
41 6850 78:ZE IRiE (1) NG 5:53.63 2 17
421 6793 8:2E EM(1) =il 5:55.32 2 18
431 7283 =H () ZER 6:01.97 2 119
44 8148 4t Ui 1=(2) EEE 6:08. 21 2 120
451 6887 FEE -5 (1) KETE— 6:08.79 2 21




PEE |
100mH (0. 762m)

EH R (CR) 14.28 FZE HEHL JEET 2017/07/15
=50 % (GR) 15.07
FiE BBEE 64 0% + 8 0 IBRIEEBE o: %4 LIEEBEE

[ mﬂ] Jﬁl@ -1.0 [ 2#5] Jﬁl@ -0.8

& V- K 4 mRA B RE IIE -y K 4 mRA B RE

1 5 7646 IO E&(2) 16.36 g 4 8085 BEG 1 (2) 16.64 g
I9°F vtn ERAE§:i 3§ v FB

2 7 8007 =i & (2) 17.99 2 5 7428 3#EH ES (2 18.89
Ry Hif a5 93 732

3 6 7819 " #nZE(2) 18. 81 3 7 8006 FHE ZE#x(2) 19. 69
Ny 143 FEILE M3t Hig

4 3 6706 L£%F EHE (2) 19.75 4 2 8225/ 5% (2) 20. 01
YN ) Nk =8 t$ ot Pk

5 4 7204 #R 2252 19.78 5 9 712711 FEH M) 20.06
3349 1am B THE° D TAn BARK

6 9 7485/ #tH & (2) 20. 71 6 6| 7154 FHl ¥42x%(2) 20. 63
L35 nbh EXMERAR THYE 3 11py)

1 2 1842 FEK FH#E (2 21.40 1 3 7864 EHZE HAY (D) 21.52
T 1Y Rlg 7V E 7Y Rig

8 6609 F%FH V50T 7 (1) 8 8 7282 =R Ex (1) 21.89

)9 4597 417 BEA Ri5 Ahth 7Y :9-PP!

[ 3381 & +0.8 [ 448] [E3E +0.9

J§] -y No. K & mRA & & & L-v No. KE & mRA B RE

1 7 1101 &FT #&K Q) 17.02 g 1 5 6489 A% £E (2) 17.45 g
Yh 14 ne 1t b ERILE

2 5 7449 $#EK FE(Q) 17.85 g 2 4 7875 fEfE EBE(2) 17.90 g
3333 7% 2Y2 3 Nh I FHERL

3 20 1126 %X H& (1) 18.40 3 7 7647 /O FE(Q2) 19.22
4%Eh 714 B R 7 F 7t ERAE§:i

4 6/ 7874=ik UHUY (2) 19.22 4 6 7368 KA &EH=xM) 19.52
v EnY EAES: 9% 9nt #1

5 4] 7481 ith@A E#(2) 19.29 5 3 T142 s BE (1) 20.03
175 f EXHBERE vy 13 EiEILi]

6 3 8164 FiE FXK () 20.24 6 8 7043 fEfE EFE(2) 20.13
7 M 5= NEh 3K /A

1 9 8062 EMA RATE (2) 20.92 1 2 7398 £THT H=EE (2) 20.14
NIy /4 FAE h% 3F 13 it

8 8 7402 /NE BE() 25.59 9 6599 A HIE (1)
0 iR HE ANy Yok i Ri5

[ 5481 JEaE +0.4 [ 6881 JEaE +1.8

J§] -y No. K & mRA & IE L-v No. K £ mRA B RmE

1 5 7792 fA E#(2) 15.51 g 1 5 6787 & #1% (2) 15.01 g
a9F Ut ;] N3 ¥4y Bl N XEH

2 4 8372 BER F=(2) 18.57 2 6 7203 /M#R A (2) 18.48
ATh" 4 FER = an vy vty E%

3 7 11531818 #E5 (2) 19. 04 3 2/ 7959 AT X852 19.00
AYE Ay TiEw] wWya Y RE

4 6 6709 sk EBX(2) 19.73 4 4 7190 HA mHE(2) 19.20
h/9 11 = vy ht =i

5 2 7580 MRk BELAR(2) 20.12 5 8 7370 £ FE (1) 19. 36
74 H 1Yt [8 & FEED 43 13F #1

6 3] 7005 & mEFE (1) 20.78 6 7/ 7579 hn#A 4 (2) 19.59
T 477 E8 WILEVES 8 & 7 EB

1 9 8740 % () 22.15 1 3| 7044 /NITR F01E (2) 20. 02
¥/ 3/h :9-PP! TN Jhh /A

8 8| 8176 3% &= (1) 22.69
WD 5=

BE +0.9

J§] -y No. K & mRA B RE

1 7 6787/ R &ZE(2) 15. 05
N3 ¥4y Bl N KXEH

2 4 7792 rA B (2) 15.25
a7 Ut 7K BA

3 6 7646/;I0 E&F(2) 15.97
I7°F It0 ERAE§:i

4 5 8085 B =Fi(2) 16. 03
1+ v i

5 9 6489 F® EE (2 17.16
1t b RILME

6 8 7101 HFT #& Q) 17.57
TYh 14 [N

7 2| 7875 7R ERBE(2) 17.89
Nh I FHERL

8 3 7449 $EK FE(Q) 17.97
3332 73 f 32




L FHE
4 x 100m

REFRPFFLH (CR) 48.17 2%t 224 2014/7/06
(BA KE-BHF =L -Bk BHE-AH &)

=EEE% (GR) 49.05
FiE BBEE 648 0% + 8 OIERIEEBE o: %4 LIEEBE
[ 148] ) [ 248] .
g V- FiE& No. E % iR mE § V- FiE# No. K £ iR mE
1 9 &E 8171 HR FZE(2) 52.04 q 1 5 R¥ 7967 & 1—1‘»‘"‘(1) 52.75 q
b3 thng /7 49/ DA TR Y
8172 i MZ (1) 7952 INE BE ()
Thh7 Ik 0 a9t
8173 ER A& (1) 7955 =% FE Q)
1\79 \'f}’ EI@* ?.’_\y
8163 JLIE /& (2) 7954 [ K&F (2)
407 I Yhv 1h
2 5 #EER 6572 BEIR =& (2) 53.95 2 7 THE&H 8054 HH EEF (1) 53.69 ¢
waneny 703 3F33/9 /L3 19h
6560 HF F(Q2) 8066 BE EJ4(2)
194 3 VAT 1%/
6573 2R #(Q2) 8069 F B {&(2
Y § 1an Thyw V17
6578 &xO FNE (2) 8068 /NEB MRE (2)
Y0 F &4 V45
3 3 EFIA 6650 L EF (1) 54.26 3 8 FEimk 7124 FRF0 AEAE (1) 55.03
EVEY! WA T it TH7 79h
6640 FriF REBFE(2) 7129 =2 \EW
MEY Y RURESY)
6641 L tiE(2) 7126 #EAX H2(1)
TV 13 4%Eb 714
6643 ixO #E(2) 7128 #h % (1)
49" F thY W £
4 2 HBREER 7645 BE #HEF (2 54. 69 4 2 1EH 7019 /hE HED(2) 55.43
rpAd PN 191" TEh YU AP
7648 /O R (2) 7017 ZEH #X Q)
HF 4y Ry
7635 #EB () 7000 & UMY (1)
YY) Y" 39 thY
7646 ;IO E&F(2) 7018 #H F(2)
19§ TE0 b Eh
5 4 #MW 8089 EFrilF 3= (2) 55.79 5 9 kB 7799 5T &%) 55.92
1t % TH4 I{X 1794 17L
8085 FEAUE RFi(2) 7801 ,ﬁ7k EFEEW)
% 1) YIZT THh
8088 JtIR FEIRZF (2) 7800 EFik FEEFI(1)
g 127+ ¥ Y
8087 XM #F(2) 7798 /N %E(U
vy i 15743 hi1
6 6 LW 7714 K& 12F () 55.84 6 6 FHEI 7876 HIR ZF1(2) 56.04
VY L7 EAT F/497 TH 47 74
M3 #ZE BESH(2) 7873 &1L ERFI(2)
hEY D Wb 9T Y1l
M7 wmf HlaH() 7875 TEME Bk (2)
AR Y 33 NED IR
M5 §H% 981) 7881 HH EA (1)
134 199 ISEVE:
7 8 HhHEEE 8410 =ZE =M.(1) 57.97 7 3 = 7188 HE £F (2 56. 91
145 393" h349 Fih ahyt IW3Y 3
8445 {F® Ei&(2) 187 =& &M Q)
1M 3t ¥3y° v
8446 HEH EFM(2) 7190 HHA 1HE(2)
VKU IR vy bt
8447 afk FTHEQ) 7189 /N #F (2)
VINUIY) 4T 12N
8 7 HmFE 7775 A FF Q) 58. 61 8 4 BxXR 7934 #)I1 Z Y (1) 56.97
YWRH 47 Y3 793 avno 1Y
7776 :E’_’a ERBE (2) 7930 JIlIO ODIE(2)
S M F I
1774 W;’R K (2) 7933 EA F:F Q)
oD Y4 U3
1777 WE W& Q) 7927 [IER BEEZE(2)
IH9Y bt AT 313
9 1 KB 6287 FHA #HE (1) 1:00. 37 9 1 RI& 7854 XKH #1E() 58. 51
E kS M3 Th 3% Tty ¥ Y
6286 ERMT FA<TE(1) 7849 /hFE FFI(2)
V) wry v
6285 #FMA i (1) 7841 IMFR T4k (2)
T 7Y3 N ¥y Fen
6284 EJE EK(2) 7851 /MR KMER (1)

g w4 WY Mt




g V- FiE& No. K £ Bk B mER No. K £ BERHE
1 3 8K 7420 AT HERTE (2) 53.97 Pt 8223 ®REEZ AF (2 52.22 q
NFEY Thh3 7¥h Thik 49 I8
7427 L0 HIFE(2) 8226 A &E(2)
YF IR T 51 Y
7449 K BFEQ) 8229 fRE F1f(2)
3332 73 43 )Y
7426 IFEK #(2) 8224 thiE %A (2)
YhE I Thy' v 39
2 9 EEME 7949 =#F #0E(2) 55. 87 S 6692 mIE B (1) 53.13 q
S ZUELYIA] 347 #21 w4 I EEN
1947 fRE BE (2 6691 1L #E5E(2)
1447 1Y WY 24t
7942 B HY () 6693 A E3E(1)
=w 7 7% YYEh I3
7948 #TF #|¥ Q) 6690 &% #ZE(2)
AV 7 ¥ 4%
3 4 FEHII 7819 J& 0 (2) 56.17 BRIEE 6483 & A [&EXE (2) 54.16
F)%kh7° NG 143 VAR EVUEY +h4 nht
7815 INFE EETH(2) 6489 {FZ £E(2)
45 ¥/ 1t b
7829 =iE BE () 6482 ¥ #/F (2
Rl A¥ /) v43
7837 A #(1) 6486 {E< K EBF(2)
199 F 14 #HE $393
4 8 W 7740 /N0 EZ= (1) 56. 28 2t 8374 BT BXR(2) 54.18
Ay ™ F nt 47t NZRZby
1743 #%F tiE () 8384 Ly HE (1)
7V ) 13 Ivn vt
7758 i 8(2) 8385 HE FHH ()
953y 19 EV ARV
7755 JRE 4 (2) 8372 A F=(2)
Ny tt H3h° 4 Ftn
5 6 W2 7154 M <% (2) 56. 71 KETE— 6880 XKFH EXE (2) 56.13
YA THE 113 TAeFy 447 =y 3t
8708 LU #I(2) 6885 K& #1745 (2)
WY 39 93 )
7160 KAIR HEE(2) 6883 B & (2)
R a4t Y787 Yuh
7159 54 ki@ (2) 6881 ER 99 (2)
193% 3 205 AR
6 7 HEAEE 1614 H BEQ) 57.24 &K 6948 1#B#E EF (1) 57.35
7 754 't YIRS 93N 33
7612 BE Ek(2) 6946 =A #l{5(2)
5hi 9% IPEb AL
7615 {£fk HE(2) 6947 HIR 37Ty (2)
LAVIRRAN 05 )
1613 KiE "EF(2) 6949 /hith FEM ()
AL E! My I
7 2 FEH 7397 & E BRTEQ) 58.33 & fEER 7580 iR AEE (2) 58.63
N L3h3 EEh Thved7 PES AN EUS
7396 mE %@2(2) 7582 Il FEHEQ)
9F07 &4
MMEMT%EU) 7584 =R HAHR (1)
Thh3 #4 9F 3k
7405 T BAE (1) 7581 B9 MEAFE (1)
EINYY AMh ¥ 115
8 1 hEHT 7077 Nt FE () 58.70 g 8548 AKX BTE (2) 58.95
THETF 4y ﬁ} EL Y YA a9
7074 F FEZE(2) 8540 A £k (2)
Thhs hot Aneh 44
7079 & @ FHEA) 8549 & %k%& (2
the nivt N Tht
7075 %#H ££2(Q2) 8547 F#R ¥ (2)
h44 £ta My 7Y
9 5 &R 6387 XKE &% (2) 1:02. 81 BE
vty I 29t N Riz
6382 kO FF(2)
IAHF
6383 A 155 (2)
w3y bf
6385 Et5 ABTH (2)

ahny 73/




[ 5#8] [ 648]
B V-» FiE#A No. K 4 EnY ol ] B V-v FiE#A No. K % EnY - ol ]
1 3 EXMERAX 7484 rhiE X (2) 53.79 g 1 9 Jt=#il 6786 Lu— EF&F (2) 53.16 ¢
YU ATYER ThY v 3 wHTUIYAT {7 %
7482 At THE(2) 6787 IR %N (2)
17h3 /7 Ny ¥t
7489 H+E HEA) 6788 Hh FK(2)
10" 3% 71h ath 743
7487 M Eﬁi(n 6790 AR BE(2)
9.’.7] 17 NP ZZ
2 4 #EEm 6603 1&’1* B3 (1) 56. 30 2 4 =R 6711 2@ Hw=®) 53.62
=y i Hh 135 9%
6602 {ZE/UK HME (1) 6713 sFE ke (1)
CREETIN )Y #40
6594 EARk FHib (2) 6709 i EE(2)
VIR h/9 1r
6590 AR FIF(2) 6705 1§ T (2)
Y749 )3 h3Y 39 Yan
3 6 I 7369 #iE FHEN) 56. 94 3 5 FEWEE 8145 =& HARXE(Q2) 54.55
TAHHD HV3Y a/h 17’ 7 13
7361 ®E #t7H(2) 8130 =1L MEXR(1)
AV #) b3YY 1F
7368 KA FHE) 8149 il EFIE (2)
% 7t v 17
7356 #K FLEF(Q2) 8147 Bl &R (2)
AR ¥ T bIYY 1
4 8 ZBEW 8742 K& E(1) 57.13 4 6 Ry E 8591 KT HAERKK (2) 54.77
Py IEF Y IV UR 1 95 T4
8744 me ME () 8593 KT #FHHi(1)
B 393 95 11
7298 g TBIE(2) 8598 it FAE()
hIY A T4h 45L7 13
7280 ES BB 8612 /h#k XA (2
¥ W RV VE
5 1 HREH 7257 FEE EEk (1) 57.52 5 1 Ei&f 8004 JtIE #HZH(2) 56.78
3 by U4 /7 403 ¥ at
7255 JIlE =42E(2) 8003 #H0O Z=&E (2)
173 T 1°F 97
1248 BK EALF(2) 8006 FH ZE#k(2)
% (A |
1256 R % (2) 8007 =i &)
ftng nt RV
6 9 Eg~iRE 8274 KT #HZE(2) 59.17 6 3 #/KW 7048 =H & (1) 56. 93
AN RER Y /Y4 zatb W/9F NIV
8281 R FE(1) 7021 ZE:ZE &= (1)
"o ot A0 13
8273 ALIE (FDHM(2) 7044 MR FOAE (2)
45 H/h g Jhh
8280 =ZE HZE(1) 7042 HEH EIE(2)
W0 bt ath 33
7 5 B 7101 &FTF X2 59. 21 7 8 EF 7203 /MR B () 58. 76
WY E)Yh 24 A/ w4y vt
7106 kF FHE) 7202 | 8% (2)
T4 F 1Vh7 AR+
7102 B[R %k#(2) 7204 #R 2252
Thng Y1y 3147 1aA
7103 B# B (2) 7205 Hi1E FHFE(Q2)
¥3h7 E3) I FA
8 1 T 7682 it REF(2) 1:00.03 8 1 & 7893 J\¥k MTH(2) 59.15
YEAT thh3 193 N Yyn Ha3
7674 hith HE(2) 7890 /MRAE XM (2)
M 24h ANy 1
7685 INEF fE2E (1) 8691 &F&E D4ax(1)
Y ANALS Yayb 9 113
7680 HH & (2) 8689 #EfA &’)<¢7%(1)
EVZ ) he A) 3
2 —HE 6935 HETH 3 (2) 9 2 Fi& 7528 E# TU M 59. 98
YA YF T Rim PRIy AN ¥y 1))
6930 JIlE %(2) 7529 i FEBR()
1753 % Hh 7OV 2
6934 BIR fﬁ#‘(Z) 7516 dtiE HEXR()
Z'f #7 19% 449 )t
6933 EE t£4I(2) 7523 Lig &E=H()
vt 113 VEEVEE




Al

-y HRA
1T &

o}

No.

KE &
HR HE(2)

&/ w5

[==]
VAN

8171
8172
8173
8163

05 J7

R (1)
Thh3 Ih

EH & E )
Ny 3th

E ME2)
43 an

6 FRiE
Thk

8223
8226
8229
8224

51.98

REE HE®Q
Hh 47 I8 h
B E(Q2)
M

BRE F#(2)
11y 3 )%

g BA(2)
Thy' v 3

52.43

9 deIl
FITURIHY

6786
6787
6788
6790

l— =% Q2
TU{F %

R & (2)
Ny #1)

He #K(2)
ah TH:
BA % (2)
NER AR

52.96

4 EE
w4

6692
6691
6693
6690

AHE BEM
YIS EEN
Al #E ()
AT 14T
WA EE)
WEh 13
&8 W52
¥/ %

53.18

8 =M
b

6711
6713
6709
6705

2l /=0)
135 9%
SFE BRE (D
)Y #40
fn#n B (2)
h/9 11
L& #F Q)
RV IVEDE]

53.43

5 K%
597

1967
7952
7955
7954

Bl D ()
438" TR Y
INE BEQ)
0 a9t
=& TEO)
I FHY
ZEH K& 2
Yhv 1h

2 HHM
339

8054
8066
8069
8068

53.58

& #2F 1)
/L3 19%

FE ENQ
I 1%/
e BQ)
Thoy 917
NG RE(2)
Y5

53.78

3 ERMERE
PZ kY

1484
1482
7489
14817

FRIg EK(2)
YT I
ALt HE(2)
hohs 7
E+E HEM)
10" 3% T1h

B BEFE)
5+h art

54.11




XF1HE

ZE & Bk

Egig?‘égﬁ(cm }:ég LR AXE LA 1975/09/28
R B
"E% f‘ﬁz *’7’;‘35 s ﬂ\fﬁi ( 1? B4 m10] m15] 1m20] 1m25 1m30] 1m35 1m40 s EE

2 15 8174 53}%1%%(1) i - - - 0 o 0o xx 1.35
3 13 7763 TJ@Z ggﬁ“) = A L 1.25
4 14 7802 T B (D FrEn o 0 0 xxx 1.20
5 6] 7079 Eg{é%m KEA 0 X0 X0 XXX 1.20
6 10 7856 g%l\gim JEET 0 X0 |XXO0 |XXX 1.20
79 TIA ﬂ'f',}ﬁ ?é;fj#m Rig 0 |0 XXX 1.15
8§ 12 7406 ggﬁ”ﬁ&(n AT X0 0 XX 115
9 2 7107 %E‘%”*I%”m R S 1.15
R AR L 5 0 X0 XXX 115
10 5 7364 ;Ezgfgamaem e 0 Xxx 1.10
1 e Ok EE ) Rl > ™ 1.10
123 U0 A B = i 110
58T ép?n % - ERK B X0 | XXX 110
12 11 7779 3]’3#% gim BB i 1.10

15 ?é\gv*ggm E e X0 XXX 1 10

6 I L, ERMERE ey

9 45 B R15




KF24F

ZE & Bk

b [ LR amE s 1075/00/28
R
J|LE1§ fc;% -}-‘6%‘3:‘ - fﬁE% (2? FEA 1m10] 1m15] 1m20 1m25 1m30 1m35 1m40 1m43| 1md5 1md7| 28k | f&E |

2 16/ 6593 ZZ’TZF?;’E?E(Z) Ena - = = |- x0 xo o xxo o xxx | 1.45
321 7159 ;AAZ&‘Q”@ @ AT - - - o o 0o 0 Xxx 1.40
3 2 669 BB BE® 2 S I I G i 1.35
5 13 6790 %zg*iﬁk @ EE A A s 1.35
5 23 8087 ’%;E g% 35 k(- ! - |- Jo o o xo xxx 1 35
7017 1251 f%%%ét;ﬁ(Z) Pl T 7 @ o jo X0 XXX 1.35
8 14] 6933 Eé% ggll\(z) SRR 0o 0 0 0 0 XXX 1.30
8 18 6485 %%gsﬂﬂm Era - T T 0o 1.25
T e ey R ILR o o 0 0o xx e
11 19 8224 g.ﬁ;;ﬁ] @ KA I 1.25
12| 7 8596 Zg/%?:%a(z) i Xo o |0 10 XXX 1.25
13 11] 6482 yé;iét% - #rE 0 |0 |0 [X0O XXX 1.25
14 12 8445 gi! %?% @ BRILE 0 X0 X0 XX0 XXX 1.25
TR I I8 T TREEE o 0o 0 xxx 1.20
16 15 7649 VEMJ; §£¥(2> =4 =0 X0 Xxx 1.20
72 0 R B e R 0 0 xxo xux .20
176 8446 Zag Qm @ #/A o |0 XXX 1.15
1710 7429 ﬁy;& @) mEER S L 1.1
200 3 6851 Ig\gg gg 35 2374 0 |0 XXX 1.15
21 8 8540 11.%%:4? ééu;é @ NG 0 |X0 XXX 1.15
22 5/ 7077 ?J?,{ﬁt i:#g @ = X0 X0 XXX 1.15
23 1] 6885 %%ﬁ;ﬁﬁ " JBET 0 XXX 1.10

4/ 7045 TIT,,'%;Z Uﬁ/%ﬁ(Z) KETE— XX0 | XXX 1.10

VINVIEY /A XXX S8t L




ZFHE

#EE Bk

Eg%g?‘é%ﬁ(cm g {238 MR K [ 2017/07/22
R
JILEE]L fc?% v —_— E% Eﬁz) ES 1m60| 180/ 2m00| 2m10/ 2m20] 2m30] 2mA0] 2m50] 2m60 W% BE
BN Y 1 & - - 0 0 0 0 0 X0 XXX 2.50
2. 8 8686 gﬁ;ﬁ :?i% @) = - - o o 0o X0 0 |Xxx 2.40
3 9] 7151 ;JI';;E :ﬁ?m LD - - xx0lo 0 0 0 |XxXx 2.40
100 ™o Eﬁ ) A B8R S O N A 210
P A ST RO PR ° ° e o X 210
6 1) 17157 %l[‘,—l\ﬂ; ﬁ)b(Z) 5D - 0 0 XXO | XXX 2.10
Ty near 5(2) PR i e 180
B3 U EE B0 s o |xxo |xxx 1.80
16718 IE @ (1) B X REeL
WD 14 =48




XF1HE

g2k

KRB EhzE0$k (CR) 5.74 #HAX HE&E BR 2014/08/31
£ECER (GR) 4.95
L | = Y S = 1 _N_ __ 3@0) “A— .~ —A— =
IESL B fon K 4 ik 1 2 3 p=asm 4 5 6 so8% e
1 36/ 8169 #{E = (1) 4.30 4.55 4. 36 4.55 4.34 X 2.50 4.55
ANy )Y E- 3 -1.2 +1.0 +0.5 +1.0 -1.0 -0.2 +1.0
20 33 7021 78:=F = (1) 4.13 4.47 X 4.47 X 3.52 X 4.47
AT B3 /A -1.3 +0.8 +0.8 -0.1 +0.8
3 35| 8631/1EE &(1) 4.18 4.10 4.36 4.36 3.97 4.27 3.98 4.36
Zyal ikt Elg -0.6 +1.1 +0.6 +0.6 -1.7 -0.3 -0.9 +0.6
4, 32 8744 7][].% INE (1) 4.23 4.13 4.21 4.23 3.96 4.32 4.34 4.34
VAaE U] :9-PP! -0.6 +0.8 +0.3 -0.6 -1.1 -1.7 +0.1 +0. 1
5/ 30 7740/hO EXE() 4.30 4.33 X 4.33 4.11 X 4.24 4.33
WF SRERTE -0.4 +1.0 +1.0 -1.8 +0. 1 +1.0
6/ 34| 8601 54 EH(1) 3.97 X 4.21 4.21 4.01 4.15 X 4.21
1347 314 #y R -1.4 +0.8 +0.8 -1.3 -1.5 +0.8
70 31| 8126 TF = (1) 4.02 4.03 X 4.03 X 3.86 3.80 4.03
YES 45 $7% G E S -0.3 +0.1 +0. 1 -2.3 -0.3 +0.1
8| 24 7966 firiEs B (1) X 4.03 «x 4.03 3.84 X X 4.03
LWL |34 -0.5 -0.5 -1.4 -0.5
9/ 25| 7656 &P &H=E) 3.90 X 3. 81 3.90 3.90
Th b 73 [E] & R &R -1.6 -2.5 -1.6 -1.6
10 28 7798/ /hE =E (1) 3.78 3.88 3.84 3.88 3.88
1843 htz1 7K B -1.6 +1.8 -1.5 +1.8 +1.8
11 23] 7168 2&l wWZE(1) 3.86 3.83 3.73 3.86 3.86
9391 Wt 11py) -1.4 +0.2 -1.4 -1.4 -1.4
120 27| 7405 E# BHE (1) 3.83 3.80 X 3.83 3.83
EIN XYY AMh JEH -0.9 +1.6 -0.9 -0.9
13) 18] 8011 AR #&EF (1) 3.71 3.47 3.43 3. 71 3. 71
Eng &4 Hig +0.4 -1.3 -0.7 +0.4 +0.4
141 21] 7000 3% oMY (1) 3. 71 X X 3. 71 3. 71
VEVE 9L {E8R -0.2 -0.2 -0.2
15] 26| 7494 5K EbFH (1) 3.62 3.70 3.39 3.70 3.70
AR E IHF EXMERAR -1.2 +1.4 -2.2 +1.4 +1.4
16) 22| 6606 @R F&TE (1) 3.40 3.69 3.49 3.69 3.69
79" 93 &/h Y -0.3 0.0 -1.7 0.0 0.0
170 13] 6717 F 47 Fik() X 3.61 3.43 3. 61 3. 61
NERRL = -0.2 -1.2 -0.2 -0.2
18 4] 7516 dtiZ BmEZXR() 3.36 3.25 3.59 3.59 3.59
4479 1yt Fig -1.4 -0.3 -0.2 -0.2 -0.2
19) 16| 7829 =i BWE (1) 2.06 3.57 3.56 3.57 3.57
ReavRY) FEILE +0.3 +0.4 -0.2 +0.4 +0.4
20 6 8050 XX v‘ﬁ%ﬁ M 3.57 X X 3.57 3.57
T 1y # HEH -1.4 -1.4 -1.4
21 19 8510/F=R %(1) 3.55 3.33 3.50 3.55 3.55
bt /Y3 KEE -0.9 -0.8 -1.2 -0.9 -0.9
220 15| 6497/ML BAmME (1) 3.53 3.46 3.42 3.53 3.53
WY EfY ERILE +0.2 -0.1 -0.1 +0.2 +0.2
23| 20| 6337 A =) X 3.42 3.45 3.45 3.45
W0 F 4 FiE -1.0 -1.0 -1.0 -1.0
24 8 6849 Ei%' B () 3.44 3.38 3.44 3.44 3.44
A9 h bt U 0.0 0.0 -0.6 -0.6 -0.6
25 17 7200 %1& 2R 3.39 3.24 3.29 3.39 3.39
797 3% U4 = 55 +0.3 -1.5 -0.3 +0.3 +0.3
26/ 11| 6888 FE & (1) 3.33 3.31 3.32 3.33 3.33
F9= 193 KETE— -0.3 +0.5 -0.6 -0.3 -0.3
27 14| 7582 Rl FwEHEM) 3.25 3.02 2.79 3.25 3.25
9Fh7 w/h [E] & 78 &R -0.5 0.0 -1.7 -0.5 -0.5
28 12| 6975/ A& (1) 3.14 3.05 X 3.14 3.14
t+ T Ez 452 -0.3 +0.1 -0.3 -0.3
29 17 7193 —1 LWARE() 3.07 2.75 221 3.07 3.07
1749 17°% =i +0.1 -0.5 +0.3 +0. 1 +0. 1
30 3] 7840 /NB =) 3.060 «x 3.03 3.06 3.06
Y 7Y Rig -1.17 +0.4 -1.7 -1.7
31 9 7259 EF ZZ4a () 2.94 2.90 2.7 2.94 2.94
Thhy 13% REFH -0.5 0.0 -0.6 -0.5 -0.5
32 2 6744 HE BEF() 2.64 2.63 2.70 2.70 2.170
Th¥ D 3 A -0.8 -0.4 -0.5 -0.5 -0.5
33 5 6794 ¥R HFE() 2.25 X X 2.25 2.25
¥ D 71t =il -1.1 -1.1 -1.1
34 7 8192/ % ZEF1(1) 2.22 X X 2.22 2.22
WE 74Y =H -0.1 -0.1 -0.1
29| 8386/ M&&E (1) X X X X SERAL
Y Nt =
10] 7108 KE #BE (1) Riz
bat 40 [N




KF24F

g2k

KRB EhzE0$k (CR) 5.74 #HAX HE&E BR 2014/08/31
=& 8% (GR) 5.43
L | = Y S = 1 _N_ __ 3@0) “A— .~ —A— =
IESL B fon K 4 ik 1 2 3 p=zp 4 5 6 s08% e
11 33] 8163 dtIm /& (2) X 4.84 4.70 4.84 X 4.92 X 4.92
407 I E- 3 +0.6 +0.1 +0.6 +0. 6 +0. 6
2| 30| 6301/ K+ #H1E(2) 4.35 4.29 4.64 4.64 4.32 4.22 4.35 4.64
43 TYh FAHE -1.0 -0.9 +1.3 +1.3 +0.4 +0.6 +0.6 +1.3
30 31 7841 /J\ﬁﬁ Fik(2) 4. 31 X 4.59 4.59 4.32 X 4.54 4.59
a4y Fen Rig -1.4 +0.8 +0.8 -0.3 +1.1 +0.8
4/ 32 8761 B =HF(2) 419 x X 4.19 X 4.54 X 4.54
ThY' 3 i FENER -1.6 -1.6 +0.6 +0. 6
5/ 29 8708 FLLL #I(2) 4.26 «x 4. 46 4. 46 4.40 4.28 4.4] 4.47
AT 39 [11py) -0.8 +1.8 +1.8 -0.2 +0.6 +0.3 +0.3
6 28] 7777 #18 ®miEQ) 3.80 4.27 4.05 4.27 4.33 3.86 4.26 4.33
YryY bt REATE -1.5 -0.2 0.0 -0.2 +0.2 +0.1 +0.8 +0.2
T 22| 7873/ &1L ®%F(2) 4.00 4.19 4.12 4.19 4.22 4.26 4.11 4.26
VKAL) FEHERE -0.6 +1.4 -0.8 +1.4 +1.1 +0.9 +1.2 +0.9
8| 26 74251FF M (2 4.08 4.24 4. 11 4.24 4.18 3.87 4.10 4.24
A33Y htY 7323 -0.2 -0.3 -0.3 -0.3 +0.7 +0.8 +0.6 -0.3
9 11| 7103/ &4 B#1(2) 4.13 4.03 4.13 4.13 4.13
Y347 E3Y [N -1.0 -0.8 +0.7 -1.0 -1.0
10/ 23| 6561 F®iE &F (2) X 4.12 4.01 4.12 4.12
MY 39 nA HEER +0.2 -0.7 +0.2 +0.2
11 19] 7285 )il £E42E(2) 4.07 4.10 X 4.10 4.10
NIhs th RER -0.4 +0.7 +0.7 +0.7
12) 18] 7018 #M@E ¥ (2) 3.71 3.68 4.10 4.10 4.10
Iha bl 88 -0.9 -1.1 -0.3 -0.3 -0.3
13) 25| 6791 lLE AEF(2) 3.99 4.06 4.02 4.06 4.06
39 413 Je= -1.2 -1.0 -0.3 -1.0 -1.0
140 27 T3 #hiE EH(2) 4.06 3.69 3.81 4.06 4.06
YD b LiWEA -1.1 -0.2 -0.6 -1.1 -1.1
15) 24| 7949 =+t #ME(2) 3.90 3.87 4.05 4.05 4.05
347 1 AREME -0.6 +0.3 -0.7 -0.7 -0.7
16/ 20| 6490 gkt ™&E B (2) 3.98 3.99 3.63 3.99 3.99
# 91 Ath EBRILEE -0.5 +0.6 -0.7 +0.6 +0. 6
17 17) 8598 &t &£ (2) X 3.82 3.94 3.94 3.94
47 13 #y R 0.0 -0.7 -0.7 -0.7
18] 15| 8146 HeE S 1 v H(2) 3.80 3.77 3.93 3.93 3.93
41h 394 FAEE -0.7 -1.6 -1.1 -1.1 -1.1
190 14] 7202 &Il $5% (2) X 3.78 3.65 3.178 3.178
1997 AR+ B -1.1 -0.7 -1.1 -1.1
200 12| 6820 E& (D) 3.75 3.58 3.64 3.75 3.75
T UY BHE +0.1 -0.8 -0.3 +0. 1 +0. 1
21 4] 7893/ /\¥k T H(2) X 3.74 3.60 3.74 3.74
WIS = -1.3 +0.5 -1.3 -1.3
22 16| 7952/ /NE E=(2) 3.63 3.73 2.82 3.73 3.73
7 it =% -0.8 -0.7 -0.7 -0.7 -0.7
23 13| 7612 &% BEE (2 3.160 3.46 3.73 3.73 3.73
4h 9% [E] & F &R -0.6 -1.1 -1.1 -1.1 -1.1
24| 21| 8518 AL #1(2) 3.58 3.69 3.66 3.69 3.69
MYy +1°3 KEE -1.3 +1.2 -1.2 +1.2 +1.2
25 10| 6758 #x&m A#MY (2) 3.59 3.50 3.58 3.59 3.59
93 3/Y =i -0.2 -0.4 +0.5 -0.2 -0.2
26/ 5| 7674/t BE Q) X 3.48 «x 3.48 3.48
M 14h Hi -1.0 -1.0 -1.0
27 6 7361 &R #t7(2) 3.27 3.44 3.33 3. 44 3.44
AV #/ #1 -0.1 -1.5 +0.4 -1.5 -1.5
28 9 6710 @ BAE(Q) X 3.38 3.42 3.42 3.42
~94Y 191 = -1.7 +0.8 +0.8 +0.8
29 2 7047 FE EHQ 3.30 3.19 X 3.30 3.30
7h%931 /A -0.3 -0.5 -0.3 -0.3
30 8 8061 FiE = (2 3.19 3.03 3.26 3.26 3.26
1 3t kA -1.1 -1.6 +0.4 +0.4 +0.4
31 3 6947 #fm FTH(2) 2.890 2.71 3.19 3.19 3.19
YH N3 Y/ &K -0.2 -0.8 0.0 0.0 0.0
32 7 6842)FE TE(Q2) 3.15 2.88 3.14 3.15 3.15
#I94 Fh ING -0.9 -1.6 +0.5 -0.9 -0.9
17191 NGk 485 ) x5
Wy axh =i




ZF1E

AR (2. 721kg)

RERPFiEEE (CR) 13.55 /3K AR /A 2016/08/24
L3546 6R) 10. 69
R
WA B N - E % AR - - - 2R84 - - m® mE

118 8051 &M@ MW@M1)

L T e
i AT . . . . . . . .

R R S S

5 13 8743 %gg ’?‘ﬁi//(” - 6X99 6. 94 7. 11 7. 11 7. 29 6.57 7.35 7.35
1% 41 ZBH ' ' : : : ' ' :

I coi | em e o s [ T

8 14 7853 E@”é}}fm o 6. 42 6X70 7. 05 7. 05 6. 74 6X57 6. 48 7. 05

9 9 7365 E?Zm . 5. 79 6. 31 6. 11 6. 31 | | | 6. 31

107 7367 rg@"gm i | | | | |
.t e 6.01 4.76 511 6.0 6.01

118 8411 nr B (1)

12 12 7403 ggvg Eim e z ;; ij ZZZ Z jj 2 jj

13] 3] 7252 %tgkqil{i [€D) e 5. 33 5. 37 5. 68 5. 68 5. 68

1410 7634 ;fé%n A | | | | |
e S 554 x 565 565 5. 65

15 5) izl SR - 5.40 4.86 x | 5.40 5. 40

16 6 6893 ?ﬁ 3'715\ Y A 509 520 491 520 5.20

17 4 739 fﬂlj; i{ﬁm - 474 491 479 491 4.91

181 7253 ?;ﬁ?é*ﬁm o 450 4.25 4.39 4.50 4.50




KF24F

AR (2. 721kg)

REBHFEEHE CR) 13.55 /N3 ¥R /A 2016/08/24
2547 6R) 11.91
R B
WL B N - E % RS -2 SE%. 4 5 6 BB W
123 7960 %ﬂég\i%i@ - 10.62 10.00 10.20 10.62  10.23 10.75 10.10 10.75
iy e e e
T i . . . . . . . .
4 21 6883 ig ;J%/;]Jﬂ ) — 8.74 8.44 9.00 9.00 8.65 896 835 9.00
5 20 8089 ?};“‘j %{(2) - 8.84 853 817 8.8 865 822 855 8 84
6 19 7957 %’Aﬁ%* ) - 8.48 x 876 876 862 874 x 876
714 7334 ﬁﬁ%} %é” - 8.74 8.59 8.66 874 8.66 832 7.80 8. 74
2 :2 Z:Z: gi zg:(z) CHA j :1) ;zz 321 321 7.18 8.65 7.93 32?
Y /0 By B : ' : : '
10 15 7448 Eﬁ ﬁim shns 6.80 7.45 6.87 7.45 7.45
11127 7201 3‘3?%2 @ =g 6.39 6.95 7.03 7.03 7.03
o] MM on ﬁ?fgt: @ JEHT 6.67 6.21 6.66 6.67 6.67
13710/ 6491 ﬁ ftl?%(?) - 6.62 6.33 6.38 6.62 6. 62
14 13 7422 ;i :‘%;é @ s < 6.52 «x 6. 52 6. 52
15 5 8603 quﬁf @ G E x 611 535 611 6. 11
169 6932 m@lﬁﬁﬁm A 589 6.08 6.06 6.08 6. 08
178 7397 Ebi E;ﬁﬁ(?) - 4.72 5.81 6.05 6.05 6. 05
187 6596 195\7:2 %?” @ w—— 553 5.50 4.93 5.53 5.53
Ll e e :
Wk 19F R 49 489 4 : :
MR 5 T T R B s
g - x 408 3.05 4.08 4.08




	表紙
	決勝記録一覧表
	1-100
	2-100
	200
	1-800
	2-800
	1500
	100mH
	400mR
	1HJ
	2HJ
	PV
	1LJ
	2LJ
	1SP
	2SP

